IDEAL INSTITUTE

PROFIT & LOSS
(@19 3T B1f)

8

A man buys 12 articles for ¥ 12 and sells them
at the rate of ¥1.25 per article. His gain per-
centage is:

T A 7 12 94 12 o H TIEHT 1.25
To Ul o & @ 5 | G’ o ST wfaw
o
(1) 20% 2) 25%
3) 15% 4) 18%

(SSC CGL Prelim Exam. 04.07.1999 (Second Sitting)

If a man estimates his loss as 20% of the selling
price, then his loss per cent is:

I HIE =R e B ®t fosRa qea @
20% STTAT Tl €, Al ST B Fiawm 2-

(1) 20% Q) 25%
3) ?% ) ?%

(SSC CGL Prelim Exam. 04.07.1999 (Ilnd Sitting) &
(SSC CGLExam. 19.06.2011)

By selling an article for ¥72, there is a loss of 7.

10%. In order to gain 5%. its selling price should
be :

forelt a%g & 72 ®o. H a9 W10% &1 B
B B 5% T o9 ik, T % foIu, S A

&1 fowa qoa A1 el
(1) %87 (2) =85
(3) %80 4) T84

(SSC CGL Prelim Exam. 24.02.2002 (First Sitting)

If cost price is 80, overexpressesis ¥20 and
selling price is ¥120. Then gain percent is
If% 9 T 80 Fo 7, SURETT 20T AR fosha
T 120 ®o 7, @ @19 Hfder 8-
(1) 20% (2) 50%
(3) 40% 4) 30%

(SSC CGL Prelim Exam. 24.02.2002 (Second Sitting)
There is a profit to 20% on the cost price of an

article. The % of profit, when calculated on sell-
ing priceis

forell o % T Jed T 20% T &9 Bl 2
okl ge@ W @19 1 gfae = Erm?

(1) 16%86

2) 20% 3) 33%%
(4) None of these / T8 & &g &l

(SSC CGL Tier-Il Exam. 21.09.2014)
A piece of land came to a person through three
middleman each gaining 20%. If the person pur-
chased theland for %3.45,600 the original cost of
the land was
Wk =R TRl spEve i faifadl & g
TGN &, TS O Hesh20% o I He
g A% =fe JEvE H13,45,600 ®IC |
@i B, A J@Ue &l ardfad qed ol
(1) ¥1,00,000 (2) ) ¥1,50,000
(3) $1,75.800 (4) ¥2,00,000

(SSC CGL Prelim Exam. 27.07.2008 (Second Sitting)
By selling a tape-recorder ¥for 950. I
lose5%.What per cent shall I gain by selling it
for £1040?
et 2u-RaEt 1 950 T § a=F W T 5%
1 eI el 81 SH 1040 ®F § SR W g
fora wfomma e Brm?
(1 5 2) 4
(3) 45 “ 9

(SSC CGL Prelim Exam. 11.05.2003 (Second Sitting)
A clock was sold for ¥ 144. If the percentage of

profit was numerically equal to the cost price. the
cost of the clock was

T TSI 144 ®. ® o= 8| AR T hT HcTaan
AT Y 9 I hd Tod o SUeR o dl "l

1 shaqed feReHT or?
() 372 (2) <80
(3) ¥90 “4) %100

(SSC CGL Prelim Exam. 13.11.2005 (Ist Sitting)
(SSC CPO SI. Exam. 16.09.2009) &

(SSC CGL Tier-1 Exam. 26.06.2011 (IInd Sitting
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10.

11.

12.

13.

Ifthe percentage of profit calculated on selling price
onan article is 20%. percentage of profit calculated
on cost price will be

I foreht =g o foordl Ted R IRee el W v
T W 20 2, & T Ted W aRehed e
N Y S B

(1) 16% (2) 24%

(3) 25% “4) 28%

(SSC (South Zone) Investigator Exam. 12.09.2010)

4
Richa purchased an article at 5 of'its list price

and sold it at 20% more than the list price. Richa's
profit percent was

oo 3 i e R T B L wd

A SH T qF | 20% 3t R s=n f=n
SIERIENCIRIE
(1) 50% (2) 40%
(3) 30% 4 25%

(SSC CHSL DEO & LDC Exam. 28.11,2010 (IIrid Sitting)
A man purchased a bedsheet for ¥ 450 and seld

itata gain of 10% calculated on the selling price.
The selling price of the bedsheet was

el e 3 TR =R T 450 Tt @R a5
3T fasha 9o % 10% o SR ¥ el sl
EISECIRCER R R
(1) %460 (2) T475
(3) 480 4. %500

(SSC CHSL DEO & LDE Exam. 28.11.2010 (Tind Sitting)
By selling an article for ¥ 960 a‘man incurs a
loss of 4%; what was the costprice?
T AR T AR T 960 | el € SR 4%
B g B dETHR SHhT hd HoA TohaT o1?
(1) ¥1,000 2) %784
(3) ¥498.4 4) 300

(SSC CISF Constable (GD) Exam. 05.06.2011)
A sells an article to B at a gain of 20% and B sells
itto Catagain of 10% and C sells itto D at a gain

1 o
of 125 0.If D pays ¥ 29.70, A purchased the

article for

14.

IS.

16.

AT %] Bl 20% o9 W s=al 81 B3® C

1
FT 10% 3R C3§ D& 125%.Fﬂ‘q T =l

81 EIER A DA F29.70 e T e, @t A
¥ 39 fRa ¥ @lwr wem ?
(1) 340 2 =10
(3) %20 4 330

(SSC FCI Assistant Grade-III Main Exam. 07.04.2013)
How much percent of gain on C.P. is equal to
30% gain on selling price.

%I Yo W A 1 forat gfqeraan fosra g
W AH & 30% % TER TRN?

) 33% Q) 36
4 6
(G) 382 0 An 42

(SSC SAS Exam. 27.06.2010)
[fbooks bought at prices form ¥ 150 to ¥ 300
are sold at pricestranging from ¥ 250 to ¥ 350,
What is the greates possible profit that might be
made in selling 15 books ?

Il T.150% T 300 T I HIFd & e GHaT
TEgE® T2509 T 350% 99 &1 ®Fd W
=it S, o stferehan Henferd @ @0 ® S 15
A A G e

(1) 'Cannot be determined / fr&1ifa &

IERIRS IRSCn|
2) ¥750

(3) ¥4,250 (4) ¥3,000

(SSC CHSL DEO & LDC Exam. 20.10.2013)
A dishonest fruit vendor sells his goods at cost price
but he uses a weight of 900 gm for a kg. weight.
His gain per cent is :

T S Tol-Toshdl, 39T HId, AR g8 T
= €, 9% TF TRl IR % T W 900 .
et 1 TETHR, STk o9 <l Hiaer fema 272

(1) 12%

Q) 11%%

1
(3) 105% 10%

“4)

(SSC CHSL DEO & LDC Exam. 21.10.2013 (IInd Sitting)
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17.

18.

19.

20.

A sellsacycle to B at a profit of 5% and B sells it
to C at a profit of 10% If C pays ¥ 2310 for it,
the cost price of Ais

A TF TEFA BH 5% o9 R ST 1 B3H
1 CHl 10% o T a9 2l 81 G8IHR 4% C
4 32310 W &, @ A1 @ e fohad €T
22
(1) %2000 (2) 2100
(3) %1900 4) %2010

(SSC CHSL DEO & LDC Exam. 28.10.2012 (Ist Sitting)
A Publisher published 2000 pieces of a book.
Whose costprice is Rs. 70,000. He dustrubuted
400 pieces free as samle. If 30% discount has
given on marked price. The Marked price on
each book is 75. What is his profit or loss per-
cent.
TH THEE 4 UF TEE H1 2000 W ¥
70,000 T TR T B 3T T TR &
®Y H 400 gfaar e a9 < oSsEE giia
FEd W 30% g2 R e g Ak
HITA T 75 1 IHBT 9 1 B Ffwr 2 22

(1) T460 (2) T475
(3) T480 4) T500

(1) 20% a9 (2) 20% B+
(3) 10%3MH (@) 10% ard

(SSC CHSLBEO & LDC Exam. 28.11.2010 (IInd Sitting)

3
A shopkeeper sold 1 part of an article at 20%

gain and remaining onits cost price. whatis his
actual gain in this transction?

3
Th JHAER 7 Th agg hl 7 W 20% T W

o1 @R T WM SES AN Hed W oo e
IR 36 R EIR § IHeRT ardfesh @ fema
T@I?
(1) 10% 2) 15%
(3) 20% 4) 25%

(SSC Multi-Tasking Staff Exam. 10.03.2013, Ist Sitting)
A sells ar article to B at a gain of 10%. B sells it

1, : .
to C at a of 75 %.C disposes of it at a loss of

21.

22.

25%. If the prime cost to the manufacturer A
was ¥ 3200 then the price obtained by C is
A,B® T a&] 10% o9 W &= g1 BSH C

Eal 7%%?4191 T =l B IR C 39 25% B

W S @ B AR fEia A% fow sHeRt 9w
ARG ¥ 3200 W B, d@ CHA IR @S o
fora T qod sl feran en?
(1) %2800 (2) %2580
(3) T2670 (4) %2838

(SSC Multi-Tasking Staff Exam. 17.03.2013. Kolkata Region)
The reduction of ¥ 12 in the selling price of an ar-

1
ticlewill change 5% gain into 2 5 % loss. The cost

price of the article is
et a%g & fasl o9 ¥ 12 §I¢ &1 & F

: 1 .
SEERT 5% GeIfad o9 2§%€Tﬁ T g5 STE|

AT, S o 2h1 T Hod feha 872
(1) ¥140 2). 160
(3) T80 (4) ) %100

(SSCMTS Exam. 17.03.2012 (Ist Sitting)
Ramiesh bought'10 cycles for ¥500 each. He
spent 2,000 on the repair of all cycles. He sold
five of them for ¥750 each and the remaining
for ¥ 550 each. Then the total gain or loss % is
W A 10 GEfehed, &F 500 HT FHT W
RIS 39 9t wEfehel s 7Fd W $2,000
T fRU| 384 370 5 ARl T&® $750 H1
FIHd WS AR AW, FHE F550 H HIE
R TEIER 3Hh 9 A1 T 1 FHal Fiaw
feme w@1?

1

(1) Gain of / &9 85%
1

(2) Loss of / I 85%
. 2

(3) Gain of / &9 7§%

1
(4) Loss of /B 77%

(SSC GL Tier-I Exam. 11.11.2012 (Ist Sitting)
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23. A man buys 3 cows and 8 goats in ¥ 47,200. 27. By selling 20 metres of cloth a man gains the

24.

25.

26.

Instead if he would have bought 8 cows and 3
goats. he had to pay ¥ 53,000 more. Cost of
one Cow is:

TH Al 3 SR 8 Wil T 47,200 |
Tlisd §1 A% 38 8 M SN 3 Wil @i
B, @ 9 ¥ 53,000 IR 3 B 99N, T
T T HA-ed Toha 87
(1) 11,000 (2) ¥F12,000
(3) ¥13,000 (4) ¥10,000

(SSC CL Tier-I Exam. 21.04.2013, Ist Sitting)
Salim had to sell vegetables worth ¥ 5,750 for

T 4,500 due to heavy rainfall. What is the loss
percentage that he has incurred?

HeA™ &l 5,750 €9C Ged Fi Wiosrdl sl AR a9
% HRU 4,500 €IC H =41 TST| STHT B
yiaeraar fera-l oft?
(1) 21.74%  (2) 23.47%
(3) 20% 4) 23.45%

(SSC CHSL DEO & Exam. 02.11.2014 (Ist Sitting)

A shoe company sold 50 pairs of shoes onia day
costing ¥189.50 each for ¥ 10,000. Then the
profit obtained in ¥ is

T ST I ATelt HEEA TR feH 710,000
F 50 S S TSGR TOE S 1 HEd
7189.50 ot Y /HT IR @9 (T H)

7o ?
(1) 522 @) 1525
(3) 573 @) 612

(SSC CHSL'DEO & LDC Exam. 16:11.2014)

If aman reduces the selling price of afan fromRs.
1,250 to Rs. 1,000, his loss increases by20%. The
cost price of the fan is

IS Th AR 9E HT faeh! goI 1,250 ®9C 9
T 1000 ®IT T I € @l IFHT B 10%
9 S Bl 99 1 N qed (T H) fera
22

(1) 2,400
(3) 2,500

2) ¥2,450

4) %2350

(SSC CGL Tier-11 Exam. 2014 12.04.2015
(Kolkata Region) TF No. 789 TH 7)

28.

29.

30.

selling price of 4 metres of cloth. The gain per-
centis

T A Sl 20 WX FUSl oeF R 4 HiR FI8 &
forch! o & SR ey W SR ®, o ey
1 S feher 82
(1) 25 2) 30
(3) 35 4 20

(SSC CGL Tier-l Exam. 2014 12.04.2015

(Kolkata Region) TF No. 789 TH 7)

A merchant bought 200 eggs, out of which 38
eggs were broken. He sold the remaining eggs
at the rate of Rs. 4.80 per dozen and thus gained
8%. His total investment is

T AR A 200 378 TR, 379 § 3822 U IW 3
I 4.80 FUT T T5H F W H o4 KU R @
TR 39 8% 1 ST geTl A Rt (T H)
R ar?
(1) %80
(3) 45

(2)4 %60

@) 120

(8SC CGL Tier-1l Exam. 2014 12.04.2015
(Kolkata Region) TF No. 789 TH 7)

A sells acycle to\B at a profit of 20% and B sells

itto C'at aloss 0£25%. If C bought the cycle for

TP. then the cost price of it for A was

AT UERFA B F 20% H o9 T a=d 2
3N BSY C Wl 25% &1 81 W a9 21 81 9%
CH 9% Ofera T P.H @il &, at A% fog
I9H!T AT A ot ?

1 9
(1) T%P (2) TEP

9 10

Zp =p
G) T3P @ T

(SSC CGL Tier-Il Exam. 12.04.2015 TF No. 567 TL9)
There would be a 10% loss, if rice is sold at Rs.
54 per kg. To earn a profit of 20%. the price of
rice per kg will be

IfE =Ed ®i 54 ®IC 9 R BT R G =
ST ®, dF 10% T 0 B 20% T s Je
FH & fou =1 &1 ufd . s R gnt?
(1) 65 2) 370

(3) 063 @ 372

(SSC CGL Tier-1 Exam. 25.10.2015. TF No. 1099685)
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31. Asoldanarticle to B at 20% profit and B sold to C (1) 30% (2) 40%
at 15% loss. If A sold it to C at the selling price of (3) 50% 4) 45%

32.

33.

B. then A would make
AT TH T BH 20% @19 R = &R BH
3G CH 15% M W= A AT ™ CH
fosht g W o=, @ AS = fherm?
(1) 5% profit /<y
(2) 2% profit/ <y
(3) 2%loss/ T
(4) 5%loss /@A

(SSC CGL Tier- Exam. 19.10.2014 TF No. 022 MH 3)
A merchant has 1000 kg sugar, part of which
sells at 8% profit and the rest at 18% profit. He
gain 14% on the whole. The quantity sold at 8%
profitis:
TF AU ® T 1000 fE A 2w 9
F feT a8 8% a9 T a1 W 18% o9 |
ol Bl R AR A IY 14% @19 el © @ 8%
o W fRa == S=?
(1) 560 kg. / feram.
(2) 600 kg. / foram.
(3) 640 kg. /T
(4) 400 kg. / foram.

(SSC CHSL (10+2) LDC, DEO & PA/SAExam. 15.11.2015
(lInd Sitting TE No. 7203752

By selling 12 kg of potatoes for ¥ 63, a shop-

keeper gains 5%t What does he gain or less per-

cent by selling 50 kg of the same potatoes for

247.50?

12 TR 3716 63 €T & dod TR Torell, SRIFER
F 5% o9 Bl B A g 50 e ee

247.50 ®UC H 99 A SEHT _SHEMT FeRTd
EGIEY
(1) 1%]loss /=M
(2) No profit, noloss/= & & 7 & 31
(3) 2.5%]loss /@A
(4) 1% profit
(SSC CHSL (10+2) LDC. DEO & PA/SA Exam. 20.12.2015
(Ist Sitting) TF No. 9692918)
TYPE-II
The cost price of 15 articles is same as the sell-
ing price of 10 articles. The profit percetn is:
15 Tgstl &1 ®waged 10 et & faswa 9
% T ) HfeE ey ?-

(SSC CGL Prelim Exam. 04.07.1999 (Second Sitting)
The selling price of 5 articles is the same as the
cost price of 3 articles. The gain or loss percent
is:
afe 5 axgeti &1 ol goa 3 a&gsti & v
T % aX B q oy A T w iR
AT
(1) 20% gain /¥
(2) 25% gain /¥
(3) 33.33%loss /@I

(4) 40% loss /1A

(SSC CGL Prelim Exam. 27.02.2000 (IInd Sitting) &
(SSC CGL Tier-1 Exam. 16.05.2010 (IInd Sitting

& (SSC SAS Exam. 26.06.2010)
The cost price of18 articles is equal to the sell-
ing price of 15 article. The.gain per cent is:
18 ar&gel =1 a1 oA 15 megetl & faa oo
# T T A Afded
(1) 15% 2). 20%
(3) 25% 4) 18%

(SSC CGL Prelim Exam. 24.02.2002 (Second Sitting)
If the cost priceof 12 oranges is equal to selling
price of 10 oranges, then the percentage of profit
is
T2 TR 1 A oI 10 TR o forshd g &
TR B, o e 2

2
(1) 165% () 20%

(3) 18% @) 25%

(SSC CGL Prelim Exam. 11.05.2003 (IInd Sitting) & (SSC SO (Commer-

cial) Exam. 16.11.2003)
If the cost price of 12 pens is equal to the selling

price of 8 pens, the gain per cent is:
I 12 9 &1 °F IoF 8§ O &% fasa g &
TR T, o A wfae em-

1) 3310, ) 662%
3 3
(3) 25% 4) 50%

(SSC CGL Prelim Exam. 08.02.2004 (Second Sitting)
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6. A person sells 400 mangoes at the cost price of )
320 mangoes. His percentage of loss is (1) 65% 2) 20%
T AR 320 39 400 T & T oI W
3) 25% (4) 80%

10.

I B1 TR @Y TR 8-

(1) 10% 2) 15%
(3) 20% 4) 25%
(SSC CHSL DEO & LDC Exam. 11.12.2011 & (Ist Sitting)

(Delhi Zone)
The cost price of 25 articles is equal to the sell-
ing price of 20 of them. The gain or loss percent
is given by
25 IR 1 A oI 3TH | 20 % fasma g
& T T A A1 eI wieE -
(1) 20%loss/ =
(2) 25% gain /¥
(3) 60% loss /&1
(4) 75% gian /¥

(SSC CPO S.I. Exam. 12.01.2003) & SSC CHSL DEO &
LDC Exam. 04.12.2011 & FCI Assistant Grade-III Exam. 25.02.2012

(Paper-I) North Zone (Ist Sitting)
The cost price of 24 apples is the same as the
selling price of 18 apples. The percentage of gain
is:
24 9l &1 %A Id 18 99 & fashd H3 &
ERE I R e TN

1

12 —%
(1) 12 5

2 14%%

3) 16%% @) 33%%

(SSC CHSL DEQ.& LDC Exam, 27 11:2010)
The cost price of is same with sell-
ing price of 16 orQnges. The profit percentage
is.
20 Hal =T AN JeF 16 Fal & fashd o &
e B EIHR S W W o fehad wfiwr
w®M?
(1) 30% 2) 20%
3) 25% 4 16%

(SSC CPO S.1. Exam. 03.09.2004) & (SSC CHSL DEO &

LDC Exam. 04.12.2011 (IInd Sitting (East Zone)

The selling price of 12 article is equal to the cost
price of 15 article. The gain per cent is.
12 FEgaT 1 foasht 7o 15 a3l & aNa 97
% U B qETER 9 1 Uiaew e g ?

11.

12.

13.

14.

(SSC CGL Tier- Exam. 19.06.2011 & (SSC CHSL DEO

& LDC Exam. 11.12.2011 (Ist Sitting (East Zone)

The cost price of 40 article is the same as the
selling price of 25 articles. Find tha gain per cent.

40 TG 1 AT, 25 TEge & faen-ge
% R 81 TEIHR, W19 1 Fie S i)
(1) 65% (2) 60%
3) 15% 4 75%

(SSC Graduate Level Tier-I1 Exam. 16.09.2012)
A cloth merchant on selling 33 metres of cloth

obtains a profit equal to the selling price of 11
metres of cloth. The profit percent is

T HUSI-fashdl 33 HieX HueT s=ag, 11 HieX
FIE & TSR HT & TR 9 I ol B
TRTER, SHHT a9 TR, 872
(1) 40% 2). 22%
(3) 50% @ 11%

(SSC€EHSLDEO & EDC Exam. 10.11.2013, Ist Sitting)

On selling 17 balls at ¥ 720, there is a loss equal

to the‘eost price of 5 balls. The cost price of a
ball is:

17 7ieE @i, 720 To | = W 57Ql & % I
TR 1 A A T TE A T HA qeA
2l

(1) 345
(3) %60

2) 350

@4 I35
(SSC CGL Prelim Exam. 08.02.2004 (Second Sitting)
The loss incurred on selling 2 1articles equals the
selling price of 3 article. The the loss per cent is

21 <l & o=H W g B SAH 3 s @
faoha Ooa & SR 1 TIER, 98 71 fRa
e €2

1
(1) 957% 2) 10%

“)

(SSCMTS Exam. 10.03.2013. Ist Sitting : Patna)

3) 12%% 11%%
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15. The profit obtianed by selling an article for ¥ 2.

16.

17.

625 is same as the loss incurred if it is sold for ¥
545. The price at which it is to be sold to realize

a profit of ¥ 65 on the cost price is

ToREl a%g W1 625 FIC § o= W I 1 39 545
FIC H S R BH A @i % SRR 21 39 R
Ted W = ST i AFM Ged | 65 T 61 A
e =12
(1) T640
(3) 650

(2) F630

(4) F660

(SSC CGL Tier-Il Exam. 2014 12.04.2015
Kolkata Region) TF No. 789 TH 7)

Cost price of 100 books is equal ot the selling

price of 60 books. The gain percentage / loss

percentage is

100 TRl &1 @M o3 60 Tkl & fowma

o & e 1 I e B i aiaedl €

3
(1) 665% () 67%

2
(3) 66% (4) 665%

(SSC CGL Tier-1 Exam. 09.08.2015 (1lnd Sitting)
TF No. 4239378 & SSC CGL Tier-I Exam, 16.08:2015
(Ist Sitting) TF No. 3196279)
If the Cost price of 25«hairs is equal to the sell-
ing price of 30 chairs, then the loss % is:
Ife 25 T 1 A Jed 30 HIA F T}
T & SR 7, ql el vfaem foha €2
(1) 25% 2) 20%

(3) 5% (4)

(SSC CHSL (1042) LDC, BEO & PA/SA
Exam. 06.12.2015 (Ist Sitting)TF No. 1375232)

163%
3

TYPE-III

The ratio of cost price and selling price is 5 : 4,
the loss per cent is:

A shopkeepr earns a profit of 12% on selling a
book at 10% discount on the printed price. The
ratio of the cost price and the printed price of the
books is

T SHMER il T W B9 7§ | 10%
H T2 & A TEh I a9 W 2% F1 19
AfSid a1 81 [K% & H9 Jod de1 3§ W

U god | IUE ®
(1) 99:125 (2) 25:37
(3) 50:61  (4) 45:56

(SSC CGL Prelim Exam. 27.07.2008

(Ist Sitting) & (SSC CGL Exam. 19.05.2013)
A, B and C started a business with their invest-
ments in the ratio 1 : 2 : 4. After 6 months A
inereased his capital by 50% and B invested
twice the.amount as before, while C withdrew

1
1 ofhis own investment. The ratio of their prof-

its at the.end of the year was

A, BT CH T AR, 1.2 : 4% I o
A faer & @i RY foran o8 WAl & 9O
AT AT IR FT Teet ¥ 50% IR Fe1
dem BH eiA fewt &1 Ted § g w e

AR CF 31 fow =1 %améfatr|wﬂ,

qHF Tq H ITh A1 HT ST A BT ST ?
(1)) 10:5:9 (2) 5:12:14
(3) 6:9:17 (4) 5:14:16

(SSC CHSLDEO & LDC Exam. 10.11.2013) It Sitting)
The cost price : Selling price of an article is a :

b. If b is 200% of a then the percentage of profit
on cost price is

Tk I&] 1 HF god: kT g 7, a0 b | AR
b, a1 200% € d 3 Jod W o9 1 Fiaer
-

1) 75%
(3) 100%

Q) 125%
4) 200%

et ag & w9 e R o HEA Rl (SSCCHSLDEO&LDC Exam. 11.12.2011(lst Sitting (Delhi Zone)

UM 5 : 42| I i -
(1) 20% 2) 25%
(3) 40% @) 50%
(SSC CGL Prelim Exam. 24.02.2002 (First Sitting)

S.

3
By selling an article at 1 of marked price, there

is a profit of 25% what is the ratio of marked
price and cost price.
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o

ot o =i sifchd e & %tﬂa%ﬁﬁzs%

FT A B T SAfRd god IR FA qoI H
T -
(1) 5:3
(3) 3:4

2) 3:5
4) 4:3
(SSC Graduate Level Tier-Il Exam. 04.09.2011)
Costs of two watches were in the ratio of 16 : 23.
The cost of first watch increases by 10% and that
of second by ¥ 477. Now the costs of two watches
are in a ratio of 11 : 20. The price of the second
watch (in ¥) in the beginning was
T Hfgdl H1 N 16:23 % U | €1 Tealt
TSt T AT 10% ¢ S € 3R T R 477
T 95 W B o6 I SfgAl i T b
UM 11:20 B TE W€t *1 yRMAE oA
(FQ #) forat «ft?
(1) 932 (2) 1219
(3) 1696 (4) 848
(SSC CGL Tier-Il Exam, 2014 12.04.2015
(Kolkata Region)TF No. 789 TH 7)
Two types of tea costing ¥ 180 per kgand ¥ 280
per kg should be mixed in theratioso that the mix-

ture obtaind. sold at ¥ 320 per kg to earn a profit
of20% is

¥ 180 W ferun &R ¥ 280 Wfa forul = et
T TR &1 =/ fohd 3@ ® fen <t Se &
g fagor =1 ¥ 320 Gfd fRum 6t =T wgeseEA
R 20% T o9 AfSa &I2
(1) 3:13 2) 1:13
(3) 4:13 4) 2:13

(SSC CGL Tier-1I Exam. 12.04.2015.TF No:567 TL 9)
A profitof 12 % is made when a mobile phone is

sold at ¥ P and there is 4% loss when the phone
issoldat ¥ Q. ThenQ: Pis

T AEETA ®H T P HI R W = W @
12% =1 &9 Bl © 3R 9% § Q T =1 =g
A 4% 1 B et 81 Q : P s B 2
(1) 1:1 () 4:5
(3) 6:7 4 3:1

(SSC CGL Tier-IIl Exam. 12.04.2015 TF No. 567 TL 9)

9.

A and B invest in a business in the ratio 3 : 2. If
5% of the total profit goes to charity and A's share
in profitis ¥ 8,550, then total profit is

A 3R B fFet SRR & 3:2% U@ o oH
1 fraw #xd &1 9 5 9 F 5% 9 TE
2 fem o T SR e H ¥ AW fewm
8,550 9T @, df el @w feha 2?2
(1) 15760 (2) ¥15,735
(3) ¥14250 (4) ¥15,000
(SSC CHSL (10+2) LDC. DEO & PA/SA Exam. 20.12.2015)
(Ist Sitting) TF No. 9692918)

TYPE-IV

Afreduction of 20%in the price of salt enabled a
purchaser to obtain 4 kg. more for ¥ 100. The re-
duced price of saltper kg is:

T9% & Jed H 20% A1 FH TH W TH
TSER 100 T T4 . \ v 3R Blig
Sl ) THE B g Hed Ui TR B
(L 4 @), 35

(3) ¥6.25 (4)) ¥6.50

(SSC CGL Prelim Exam. 11.05.2003)
A man sells histypewriter at 5% loss. If he sells
itfor ¥ 80 more. he will gain 5%. The cost price
of the typewriter is

Th oAl S0 TEREX Hl 5% i B W
el B A o W 80 T, 3Afereh W o ol SH
5% 9 B TR T HA oA o-
(1) ¥1,600 (2) ¥1,200
(3) ¥1,000 (4) ¥800

(SSC CGL Prelim Exam. 04.02.2007 (First Sitting)
By decreasing 10% in the price of wheat a man

can buy 50 gram more wheat how much wheat
can be bought in ¥ 1 before decrease the price.

TE & | H 10% FH &F § TH STEH 50 7
g aifuss Tl Hehal €1 W FH TH ¥ T8
1 93 ¥ fRaT 1§ @S 1 Hehal o1?
(1) 400 gram /U=
(2) 500 gram /9™
(3) 450 gram /7™
(4) 350 gram /IH
(SSC CHSLDEO & LDC Exam. 04.11.2012. Ist Sitting
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TYPE-V
A house and a shope were sold for ¥ 1 lakh each.
In this transaction, the house sale resulted into
20% loss whereas the shop sale into 20% profit.
The entire transaction resulted in :

TF HHM a1 TH &M H ° TAF &l TH
@ T H S T AR W 20% FHi B
AT M T 20% 19 @Ml el TS 1 aRom
'{%T_

(1) nolossno gain /¥ ¥ 7 BT

1
(2) gain of’{'—lakh/ —ET@ T

Sl AN

(3) loss ofT—lakh/ ;e L]
1 B

(4) loss of?—lakh/ —mm
AT

(SSC CGL Prelim Exam. 04.07.1999 (Second Sitting)
A shopkeeper sells two T.V. sets at the same price.
There is a gain 0f 20% on one TV and a loss of
20% on the other. State which of the following
statament is correct :

T HMER q Fodlfo Tl i UH & Foi W =l
21 TF FHodto WI2O%WEW%QIHT%3?R@W
20% 1 T 2R @l SR o Y S e
e T 82
(1) The shopkeeper makes no net gain
or profit

THMIR 1 7 o9 & TR
(2) The shopkeeper loses by 2%

THFER 1 2% 1 e el ©
(3) The shopeeper gains by 4%

THFER i 4% 1 19 Bl 2
(4) The shopkeeper loses by 4%

THFEN H 4% HT B et 8

(SSC CGL Prelim Exam. 24.02.2002 (First Sitting)

A man sells two chairs at ¥ 120 each and by

doing so gains 25% on one chair and loses 25%
on the other. His loss on the whole in ¥ is

T AT < /AT T 120 90 FH H R T
ol Bl ARIAR Tk HET W 25% o9 HAM
g, IR @l @ W 25% = 3em 21 T
TR SH A 1 el Bl fohed ®qT 1 872
(1) 20 2) 16
(3) 25 4 30

(SSC CHSL DEO & LDC Exam. 28.10.212. Ist Sitting)
A man purchases two fans for ¥ 2,160. By sell-
ing one fan at a profit of 15% and the other ata

loss of 9% he neither gains nor loses in the wohlo
transaction. Find the cost price of each fan in ¥F.

TF S T 2,160 F 3 TE TG ¢ TH v
15% % 1 T 3R T 9% i Bl T o e 59
R ER A o B F AR A e e T
T 8 (TH)-
(1) 710,1450 (2) 1530,630
(3) 810,1350" (4) 1340,820

(SSCALCHSL DEO &KDC Bxam. 04.11.2012 (1Ind Sitting)
A'man bought a horse.and a carriage for ¥ 40,000.
He sold the horse at a gain of 10% and the car-

riage at a loss'of 5%. He gained 1% on his whole
transaction. The cost price of the horse was:

TH AEHH T gl @R A T 40,000
TR ST ST 10% & od R o= fam i
dqe 5% 1 B W HA G W I 1%
W T HI H %A oI ol
(1), ¥15000 (2) ¥F16000
(3) ¥18000 (4) F20000

(SSC Multi-Tasking Staff Exam. 10.03.2013)
A trader sells two bullocks for ¥ 8,400 each, nei-
ther losing nor gaining in total. If he sold one of

the bullocks at a gain 0f20%, the other is sold at
alossof

T AMH & A9, T&F T 8,400 W = B
R T W T A FA T, 7 B Fea
TEIER, AR I8 399 ¥ TH 1 20% A9 |
I 2, 7 TR F R A W A B

2
(1) 20% (2) 185%

2
(3) 1% () 21%

(SSC MTS Exam. 24.03.2013, Ist Sitting)
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10.

A cloth merchant sold half of his cloth at 40%
profit, half of remaining at 40% loss and the rest
was sold at the cost price. In the total transac-
tion his gain or loss will be

TF HIS & AR 7 379 e HI 40% TH
W WY R T ® Y 40% T W SR W
T9 FIE A6 Jod W o9 Ky gogol o) o
34 A foraw a9 = wifa gg?
(1) 20% gian /&9 (2) 25% loss /B
(3) 10% gian /BT (4) 15% loss /14

(SSC MTS (Non-Technical) Exam. 22.02.2011)
Nisha bought number of oranges at 2 for a ru-

pee and an equal number at 3 for a rupee. To
make a profit of 20% she should sell a dozen for

e 3 ©F T A 2 % feue @ 9 TR TR
AR 3 & TR TH w9 H 3 F feow @
TR 20% T A9 HAA 5 A ST TH o
TR forat w9 § 9= =nfgw?
(1) 6 2 <8
(3) %10 @) %12

(SSC CGL Tier-1 Exam. 19.10.2014 (IstiSitting)
Ram sold two horses at the samé¢ price. In.one he

gets a profit of 10% and in the other he gets aloss
of 10%. Then Ram gets

9 A J S HIAd W S| TH W 3° 10% T
o g SN TR H 10% %! 0 g8 TH H
HE T T2
(1) 2%]loss /@M
(2) No loss or profit/d B4, 7 =¥
(3) 1%loss/ =M
(4) 1% profit /<y

(SSC CGL Tier-Il Exam. 25.10.2015. TF No,1099685)
A shopeeper sold an article at a loss 0f20%. But

ifhe could sell it at ¥ 200 more, he'could earn a
profit of 5%. The cost price of the article is

TF THMAIR T GHE Fl 20% BT T 3=
Afra afg 98 39 200 €9 Afers s g
Al U 5% o9 Bl 9% 1 HAged B-
(1) 800 () ¥1,000
(3) T1,200 (4) F600

(SSC CHSL(10+2) LDC, DEO & PA/SA Exam. 20.12.2015)

(Ist Sitting) TF No. 9692918)

TYPE-VI
By selling an article for ¥ 240, a man incurs a
loss of 10%. At what price should he sell it, so
that he makes a profit of 20%?

T I I 240 Fo H =90 W et =Afw 1
10% 1 i Bt 21 o8 39 ford 9o W o= fR
3Th! 20% 9 B
(1) ¥264 (2) ¥288
(3) ¥300 4) ¥320

(SSC CGL Prelim Exam. 04.07.1999 (Iind Sitting) &

$SC S.0. Exam. 16.11.2003)
If an article is sold for ¥178 at a loss of 11%,
what should be its selling price in order to earn a
profitof 11%?

IR HE a5 178Fo H 11% i &I W o=
ST B, 1% H1 ST I I & T ST

o Hod @181 AMfeu?
(). ¥222.50 (2) %267
(3) T435 4) %222

(SSC CGL Prelim Exam. 24.02.2002 (Second Sitting)
A-person bought two,articles A and B for ¥
5,000. He sold A at 20% profit and B at 10%
loss. He thus gained 2% on his outlay. The cost
price of A was

Rt =afe 3 < 9@ A e B 5,000 §9T H
@RI 3T AR 20% 19 21 BT 10% 21
T &1 39 YR IH 3T AN W 2% T &9
B AR I-cT o
(1) ¥3,000 (2) %2,500
(3) ¥2,000 4) 3,500

(SSC Data Entry Operator Exam. 31.08.2008)
By selling an article for ¥ 665, there is a loss of

5%. In order to make profit of 12%. the selling
price of the article must be

et o T 665 TIC | =1 H 5% hl B
T B TE A W 12% o9 W HE B g
9 fasha Hea W@ B-
(1) 812 2) 800
() T790 4) 784

(SSC Data Entry Operator Exam. 31.08.2008)
By selling 12 oranges for ¥ 60, aman loses 25%.

The number of oranges he has to sell for ¥ 100, so
asto gain 25% s
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129R T 60H =1 T TH Al Hl 25% T
B B qEIER S9 25% @9 & ferg ¥ 100 o

foha G &= AMfeq?

(1) 10 2) 11
3) 12 ) 15
(SSC CHSLDEO & LDC Exam. 04.12.2011

(IInd Sitting (North Zone)
If a man were to sell his wrist-watch of ¥ 720,
he would lose 25%. What price must he sell at
for to gain 25%?
Ifs Tk Al T FAR-SE T 720 H 99,
@ IH 25% T B TAIT| TR SH 25% e
T wH & fau we-uet, fFa § s
=fge?
(1) T960
(3) ¥1000

2) %900
(4) F1200
(SSC CHSL DEO & LDC Exam. 28.10.2012
(st Sitting) & 04.11.2012
By selling a fan for ¥ 600, aman loses 10%. To

make a gain of 20%, the selling price of'the fan
should be
TH 99 & 600 €I H T WA0% T Bt
21 TEIER, 39 foree He W ST Sew,dit
IF W 20% o9 i gah?
(1) ¥900 (2)¢ 1000
(3) ¥700 (4) 800

(SSC MTS Exam. 17:03.2013, Iind Sitting)
An article was sold at a profit of 12%.1f the.cost
price would be 10% loss and selling price would
be ¥ 5.75 more, there would be profitof 30%.

Then at what price it should be sold tomake a
profit 20%?

T a% 12% o9 | o= | IS, SHHT ArTa
T 10% % Bl IR foehl gord 5.75 ®9C
sfien B, @ 19 30% B Sl TRIIR, 39 R
20% &Y 99 & fau S@ fRdy ®Uw o S
Mfeq?
(1) %115 2) %120
(3) T138 @) %215

(SSC CHSL DEO & LDC Exam. 27.10.2013 IInd Sitting)
Mohan sold his watch at 10% loss. If he he had

sold it for ¥ 45 more, he would have made 5%
profit. The selling price (in ¥)

10.

11.

12.

e = T WS 10% o1 R s=1 afg 3w
S B T 45 Aftwm W =0 7O, @ 39 5%
@Y el SN aEqER, 39wt w1 fawa g

frTd T em?
(1) 300 2) 900
(3) 110 4) 270

(SSC CHSLDEO & LDC Exam. 10.11.2013. Tind Sitting)
The cost of house was ¥ X lakhs in 2005. After 3
years, the owner of the house sold it of 25% more
than she paid it. But she has to pay a tax of 50%
of'the gain. The tax amount she has to pay is.
T THM ®I A 2005 H ¥ X @G ol 3 a9
TR A Hifelsh o 39 S AR H T 25%
tfdeh T =1 T I A9 H 50% F AT B

3 fohasl w2 f¥n &4 gri?
X
1 5 @ ¢
X
(3) 1 (4) By

(SSC CGLTier-1 Re-Exam. (2013)27.04.2014)

A sold a horsee'to B for ¥ 4800 by lossing 20%.
B sellsit to € at a price which would have given
A aprofit of 15%. B's gain is

AF B&I ¥ 4800 F TH el 541 9 W 39
20% 1 =1 gl BI™ C ! Tt hIHd T o=l
T T ATl 15% %1 o9 e €1 B w1 fepa

AT gat?
(1) %1800 () 1900
(3) ¥2000 4) %2100

(SSC CGL Tier-I1 Exam. 21.09.2014)
A shopkeeper sold his goods at half'the list price
and thus lost 20%. If he had sold on th e listed
price, his gain percentage would be

T SHMASR A IO A1 P 7o 9 3 g
W W= 3R T TR SH 20% i B gl S

I T g T F=1 B @ ST 1w
R 2rar?
(1) 60% 2) 20%
(3) 72% 4) 35%
(SSC CGL Tier-II Exam. 12.04.2015 TF No. 567 TF 9)

Add : 117/0/62 B-6 Crossing No. 9, Geeta Nagar, Kanpur

Mob. 9335615537, 9415728437



https://www.print-driver.com/?demolabel-en

IDEAL INSTITUTE

"

13.

14.

15.

Ahouse worth Rs. 1,50,000 is sold by X to Y at
15% profit. Y sells the house back to X at 2%
loss. Then in the entire transaction :

1,50,000 €T HeI &1 TH A X R Y &l
5% o TR S Sl Bl YS9 Wb o Ao X
I 2% B T o= 30§ R ER H o ferfy W
(1) X gains ¥3150
(2) Xloses 4350
(3) Xloses ¥1350
(4) X gains ¥4350

(SSC Constable (GD) Exam. 04.10.2015. IInd Sitting)

If bananas are bought at the rate of 4 for a ru-
pee, how many must be sold for a rupee so as to

gain33§%?
I T T H 4FH QA FA WIS I A

: o1
T&h ®IC T fhad ol 59 T 335%?7*‘[?“‘31

&2
(1) 2.5
3) 3

2 2
4 4
(SSC CHSL (10+2) LDC, DEO & PA/SA Exam. 15.11 2015
(It Sittifig) TF No. 6636838)
A fruit vendor buys apples at the rate of 10 for ¥
100. How many should he sell for ¥ 100, so that he
makes a profit 0f25% ?
T el foaRdl £.100 F 10 T @l 2l
25% 9 & T 3§ %.100 % Tohad S s=
=2
1 5 2) 6
3) 7 4 8
(SSC CAPFs. SI. CISF ASI & Delhi Police SI Exam”06.2014)

TYPE-VII

Oranges are bought at rate of 7 for ¥ 3. At what
rate per hundred must they be sold to gain 33%?

3%®o H 7HM H LY HR @E wd | uhd
q G fFE 5 W 99 S0 TR 33% o B2
() %56 (2) %60
(3) %58 4) 357

(SSC CGL Prelim Exam. 04.07.1999 (First Sitting)

If I would have purchased 11 articles for 10
and sold all the articles at the rate of 10 for ¥11,
the profit per cent would have been:

IR F 10F B 11 R Y |3 TL BT F
3% 11®o & 10! S F o=, d A9 e
gar-
(1) 10% @) 1%
(3) 21% @ 100%

(SSC CGL Prelim Exam. 24.02.2002 (First Sitting)

Ravi buys some toffees at 2 for a rupee and sells
them at 5 for a rupee. His loss percent is

fa wo AT TF T H 2 F R G GG
2l o 3% TF W@ F 5 R F =@ B

3IGHL B 1 ufaed B
) 120% @) 90%
() 30% @) 60%

(SSC CGL Prelim Exam. 13.11.2005 (Second Sitting)
A fruit seller buys lemons.at 2 for a rupee and
sells'them at 5 forthree rupees. His profit per
centis

T Fd fama T W H I & feue ¥ g
Tled g4 I = T 5 % e o 5% s
1 SHRT I, IRk 3
@) 10% 2) 15%
3) 20% 4 25%

(SSC CGL Prelim Exam. 04.02.2007 (First Sitting)
Some toffers were bought at the rate of 11 for ¥ 11
for ¥10 and the same number at the rate of 9 for
T 10. If the whole lot was sold at one rupee per

toffee, then the gain of loss in the whole transac-
tion was

F3 ARAT 10T H 11 O F q ST &b
IR 10FTC H 9% 9E 9 Tl T AR
FA TUER I | TUC Yq (HT & 96 F =
T E, A R ER H A sterE g -
(1) lossof 1% /1% ot B

(2) gainof 1% /1% <1 =¥

(3) neither gain nor loss /9 <9 7

Bl

(4) gianof 1.5% / 1.5% T <9
(SSC CGL Prelim Exam. 27.07.2008 (IInd Sitting) &

SSC CHSLDEO & Exam. 04.12.2011 (Ist Sitting)
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A man buys some articles at ¥P per dozen and

P
sells them at ¥ g per piece. His profit per cent
is

T AEH /3 U P ®IC Ufd o1 & 99 9

EEHECIR A %wuﬁrwaﬁﬁﬂwﬁm

T IHRT A9 R 2-
(1) 30% (2) 40%
(3) 50% 4) 60%

(SSC Data Entry Operator Exam. 02.08.2009)
A shopman bought pens at the rate of 7 for ¥10
and sold them at a profit of 40%. How many
pens would a customer get for ¥10?
T THMSR 10 ®IC Jfd 7 99 &I W ° UA
TR Y AR 3R IE S= 40% A T S= |
TEER frelt TR &1 10 ®9C § fovad o=
firet?
(1) 6
3) 5

2) 4
4 3
(SSC CHSL DEO & LDC Exam. 04.12:2011
(Ist Sitting (East Zone)
A loss of 19% gets converted into-profit of 17%
when the selling price is'increased by ¥ 162. The
cost price of the articleis
et a%g & TShI-9 H 162 ) Jfs
W, IHH19% B, 17% st H o=t St
2| GEIER, @ 9% I, ANC-Hed fehaq2?
(1) %450 (2) 3600
(3) %360 (4) 540
(SSC Graduate Level Tier-II Exam. 16.09.2012) &
(SSC MTS E<am. 17.03.2013 (Kolkata)
By selling 4 articles for 1 rupee, aman loss 4%.
Had he sold three articles per rupee. the profit
would have been:
1 TIC H 4 ST o9 F TH SAGH I 4% B
2 B A 3T TH ®IC H A Ty S= el
@ IH A B
(1) 30%
3) 16%

Q) 28%
@) 12%
(SSC Multi-Tasking Staff Exam. 10.03.2013)

10.

11.

12.

By selling 80 ball pens for ¥ 140 aretailer loses
30%. How many ball pens should he sell for ¥
104 so as to makea profit of 30%?

80 I ¥ 140 W o= W TH fashal &l
30% 1 B B S ¥ dRIER S 30% oY
TR & A ¥ 140 W foha Sferoq d= =few?
(1) 32 2) 52
(3) 48 4) 42

(SSC FCI Assistant Grade-III Main Exam. 07.04.2013)
A fruit seller buys some oranges at the rate of 4

for¥ 10 and an equal number more at 5 for ¥ 10.
He sells the whole lot at 9 for ¥ 20. What is his

loss or gain per cent?

T Gcd fasdl T 10H 43 N W FF IR
TS 3R T 10H 5 W R Sad & g iR
TlEd Bl dE $T20H 9 H W W HR HR
e 1 39 fRd foera, gif A o gen?

19
(1) Loss per cent /8T "fderd IE%

19
(2) Gain pércent / TE Ffa9Td lﬁ%

(3) No less.or no profit /= 14, =
i
(4) Loss per cent /BT fderd 2%

(SSC Graduate Level Tier-I Exam. 21.04.2013)
A fruit-seller buys some oragnes and by selling
40% of them he realises the cost price of all the
oranges. As the oranges being to grow over-ripe,
he reduces the price and sells 80% of the remain-
ing oranges at half the previous rate of profit.
The rest of the oranges being rotten are thrown
away. The overall percentage of profit is

TH Wl foshdl ®® G@R ElEd N ST
40% S=9R 95 Gt Ga FT AN qod a9
HL A Bl S TR AE TR O T 9
FIAA HH F <@ ¢ AR I | T 80% T8 A1
w1 qd Y Y W S @ B I GRS
g W € 1 98 S= Theh a1 87 AN H H
geer e w12
(1) 80 Q) 84
(3) 94 ) 96

(SSC CGL Tier-I Exam. 19.10.2014)
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13.

14.

15.

A shopkeeper buys 144 items at 90 paise each.
On the way 20 items are broken. He sells the
remainder at ¥ 1.20 each. His gain per cent cor-
rect to one place of decimal is
Th RS U 90 UH Y W W 144 TEqU
TS T T H 20 Y I W T WY a8
W T 1.20 1 S W o=l 21 SHRT AT
HfaeT (SIS & Tk TIE qh) T B2
(1) 13.8% (2) 14.6%
(3) 14.8% 4) 15.8%

(SSC CGL Tier-Il Exam. 21.09.2014)
A man purchases some oranges at the rate of 3 for
¥ 40 and the same quantity at 5 for ¥ 60. If he

sells all the oranges at the rate of 3 for ¥ 50, find
his gain or loss percent (to the nearest integer).

T SEH /3 T 40 €99 § 3 & 9@ 9
Tl B AU S & "W 60 T H 5 9
Y| I | FR H 98 50 T H 3 & 9@
Y o= € Al ST A 1w A e fehean
qulieh T AA L2
(1) 32% profit/<m¥
(2) 31%loss /@I
(3) 34% loss /@I
(4) 31% profit/<mHq

(SSC CGL TigriT Exams25.10.2015. TF No. 1099685)
If a shop-keeperpurchases cashewnut at ¥ 250

per gk. and sellsitat ¥ 10 per 50 gram, then he
will have

T T FHMIR T 250 Ut fhn. w1 < E.He)
Tlied & 3”10 ®9C 9fd 50 TH H1 9 34
o9 A 7 A SY T G M2

(1) 25% Loss /@I

(2) 25% Profit /@9

(3) 20% Profit/ @ms

(4) 20% Loss /@1
(SSC CAPFs. SI. CISF ASI & Delhi Police ST
Exam. 21.06.2015 (Ist Sitting) TF No. 8037731)
TYPE-VIIIL
Nikita bought 30 kg of wheat at the rate of ¥
9.50 per kg and 40 kg of wheat at the rate of ¥
8.50 per kg and mixed them. She sold the mix-
ture at the rate of ¥ 8.90 per kg. Her total profit
or loss in the transaction was:

faatar = 30 f5Rm 7 9.50 Fo W e 40 foram
8.50 ®o Ui FFU % wa ¥ Gl iR =% foen
feam g 1 394 8.90 ® W R & W@ &
9T S AR § ST o A1 el et @ 2
(1) ¥ 2loss/®MA
(2) ¥ 2 profit/<m¥H
(3) ¥ 7loss/®M
(4) T 7 Profit/<m¥

(SSC CGL Prelim Exam. 13.11.2005 (First Sitting)
A man buys a certain number of oranges at 20
for ¥ 60 and an equal number at 30 for ¥ 60.

He mixes them and sells them at 25 for ¥ 60.
What is gain or loss per cent?

TH(EH 60 AT | 20 & 960 § H TN
G & T 3 BT TR 60 ®ITC H 30 B
919 W G 2T S= Th e e 60
®IT F 25 @ WE § 99 1 81 SHE o
@ B 1 gfavadferdm 82

(1) Gain of 4% /4% T @14

(2) Loss of 4% /4% &1 g1+

(3) Neither gain nor loss /= 217 7 9

(4) Lossof 5% /5% &t g+

(SSC CPOS.I. Exam. 09.11.2008)
To gain 10% on selling sample milk at the cost price
of pure milk, the quantity of water to be mixed with
50 kg, of pure milk is
IS 3 & FF Yod W THAI-5H d=hT 10% o
T & faw 50 fomm gs gy o ot
feRat A et gwi?
(1) 25.5kg. /T
(2) 5kg./fem.
(3) 7.5 gk./ e
(4) 10kg. /frmm.

(SSC CPOS.I. Exam. 09.11.2008)
Sourav purchased 30 kg of rice at the rate of ¥
10 per kg and 35 kg at the rate of ¥ 11 per kg.
He mixed the two. At what price per kg (in ¥)
should he sell the mixture to make a 30% profit
in the transaction?

R A 30 FRw =e@ ¥ 10 W R o
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W TR R 35 R ¥ 11 9 fRm @
TR 3G 37 A1 ot fHen feam qa 3§ fago &
30% 9 & & forg, ferad w9 wfa foemm i
W d=A1 =AMMRW?
(1) 125 2) 13
(3) 13.7 (4) 14.25

(SSC Graduate Level Tier-I1 Exam. 29.09.2013)
The ratio, in which tea costing ¥ 192 per kg is
to be mixed with tea costing ¥ 150 per kg so

that the mixed tea, when sold for ¥ 194.40 per
kg. gives a profit 0of 20%. is
a8 U, T9H 192 ®o ufa femn goat ot
I 1 150 ®o i R ameht =@ % @
frren =¢, fafem =ma &1 194.40 ®o ufd form =
aTd G = W 20% K AT &, 7
(1) 2:5 2) 3:5
(3) 5:3 4 5:2
(SSC CGL Prelim Exam. 27.07.2008 (First Sitting)

A shopkeeper blends two varieties of tea costing
¥ 18 and ¥ 13 per 100 gm in the ratio 7+ 3. He
sells the blended variety at the rate of ¥ 18.15
per 100 gm. His percentae gain in‘the transac-
tion is
Th gHFER T 18 3R ¥ 13 Wi 100 UM @
el S YHR HT T 7 3% ST H HeAw
21 9% widAfyE =@ £ 018.15 9 100 U9 i
WY S T GR Y SHehl e @ -
(1) 10% ) 12%
(3) 14% (4). 8%

(SSC CHSLDEO &1.DC Exam. 20{10.2013)
The ratio of the quantities of sugar,<in which
sugar costing ¥ 20 per kg. and F.135 per kg:
should be mixed so that there will be.neither loss
nor gain on selling the mixed sugar at the rate of
¥ 16 per kg. is
=t T A 1 98 1, foe 20 ®9w wfd
TRt aett =it Rl 15 ¢ Hf fohamm el
= & e e fJee @ 16 9T 9
fReTITT & e B S WA B e SR | T, B
(1) 2:1 2) 1:2
(3) 4:1 4 1:4

(SSC Data Entry Operator Exam. 31 .08.2008)
A milkman makes 20% profit by selling milk
mixed with water at ¥ 9 per litre. If the cost
price of 1 litre pure milk is ¥ 10, then the ratio

10.

11.

of milk and water in the said mixture is
T gYETl, 3T g § 9 faee 3 9 i
AR H W S T AR 20% AN FHACI 2
I ITH Y§ J F AN T 10 9T e 7, A
S fagmon W gy SR U 1 U feRe @2
(1) 3:1 2) 4:1
3) 3:2 4) 4:3

(SSC CHSL DEO & LDC Exam. 28.10.2012. Ist Sitting)
The liquids. X and Y are mixed in the ratio of 3
: 2 and the mixture is sold at ¥ 11 per litre at a

profit of 10%. If the liquid X costs ¥ 2 more per
litre than Y. the cost of X per litre is (in Rs.) :
T g X AR Y HAN: 3: 2% U H fafsm
fru SR € o) fufsd =1 10% & a9 ®/ 11
T gt ofiet 1 W F =1 5 21 A 59 X
FT AN Y& @ H 2 A YT e Afen
2 @ X I ard ufd ofet fRaht (TaT ) =2
(1) "10.80 (2)4 11175
(3) 9.50 @ 1

(SSC CHSL(1042) .DC DEQ & PA/SA Exam. 06.12.2015

(Ist Sitting) TF No. 1375232)

A milkman mixes water with milk and sells the
mixture at the cost price of pure milk. The
voulme of water in litres to be mixed with each
litre of milk to get a 25% profit is
TH TeTel 5§ qHT e € @R faee w5 gs
T H AN Ged W S=al g1 U ofter g o
foRd Tife 9t st |1 fHers st =ifeq, e
39 25% A9 BI?

1 1
M 5 @5

1
3 15

(4) Cannot be calculated without knowing the
cost price of milk / 9 & &N qod A fa
TOMET &l hl ST Hehdl

A shopkeeper bought 30 kg of rice at the rate of
T 70 per kg and 20 kg of rice at the rate of ¥
70.75 per kg. If he mixed the two brands of rice
and sold the mixture at ¥ 80.50 per kg. his gain is
T& THEER A 30 fRm =m@a 70 ®9U ufa
freiom™® 1 X 9 R 20 fRWL. =@ 70.75
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wou Hfa fremm it R ¥ Tl A€ 9 <M
YRR & e i fHen 3 ® S 80.50 ®UY
oY foR. & R 9 S ¢, @ SUF o ©

(1) 450 2) 510

(3) 325 4) 485

(SSC CGL Tier-1 Exam. 09.08.2015 (Ist Sitting) TF No. 1443088)
TYPE-IX

A man sold some articles at a gain of 10%. He
spent his total sale proceeds to purchase such ar-
ticles again. This time, while selling them, he in-
curred a loss of 10%. His loss or gain in the trans-
action was

T STEH 7 B T 10% A W = et
Y e arelt | ST S e T aggel &
: TG § 2 fRa 59 R 39 9= 9 3
10% 1 & gl G- H @R o9 A eI
AT
(1) 1%]loss/ 1% st =1+
(2) 1% gain/ 1% T <9
(3) No profit no loss /¥ &9 7 B
(4) 2%loss/ 1% @1 B

(SSC CGL Prelim Exam. 27.07.2008 (Second Sitting)
A grocery dealer to the extentof10% while buy-

ing as well as selling by using false weight. What
is his increase in theprofit %?

T UORI, ThGl Al D TET e, i
T SR S WA, S IR, 10% T S Sat
2| EIER SHS o9 B, fhal gig e e ?
(1) 20% 2)" 21%
(3) 22%
(4) None of these /351 H FIg 78l

(SSC CHSL DEO & LDC Exam. 21,10:2012 (lirid Sitting)

TYPE-X

An article is sold at a loss of 10%. Had it been
sold for ¥ 9 more, there would have been a gain

1
of 12 5% on it. The cost price of the article is:

HIE IR 10% i e W = S 81 9k o8
T 9 ®o Afyw W d= T T, @ I W

1
lzz%a:rww%ﬂmwalﬁaﬂa?&r&w%—

(1) 340 (2) T45
(3) %50 4 I35

(SSC CGL Prelim Exam. 24.02.2002 (First Sitting)
A man bought two goats for ¥ 1008. He sold
one at a loss of 20% and other at a profit of 44%.
If each goat was sold for the same price. the cost
price of the goat which was sold at loss, was:

T At A < I 1008 ®o o T T
q TH H 3 20% FT T W I Al 44%
% o W 99 G Ak = swfE @
T W9 T B, A S TR @ WA T
IUH A oI o1-
(1) T648 2) ¥F360
(3) ¥568 (4) T440

(SSCEGL Prelim Exam. 08.02.2004 (Second Sitting)

A.book sellersells a book ata profit of 10%. Ifhe
had bought 1t at 4% less and'sold it for ¥ 6 more,

. 3, .
he would have/gained 18 7 70 The cost price of

the book is.
T ik faehdl Uk T i 10% & T |
gl 2| A SE TH 4% FH T @ B a

6 ®o 3T 9T <= BT a1 39 18%%%1?11‘:1

A TN [ H %A oA ©-
(1) 130 (2) F140
(3) ¥150 4) w160

(SSC CGL Prelim Exam. 04.02.2007 (First Sitting)
An article was sold at 16% gain. Had it been
sold for ¥ 200 more, then gain would have been
20%. Then the cost price of the article is:
Th T I 16% T T =1 T AR W 200
7Y e Hed WS S, @ | 20%
THOTN TEIER, SH 9% 1 N Hed fohaaT 82
(1) ¥5000 (2) 4800
(3) 4500 (4) F5200

(SSC CAPFs SI & CISF ASI Exam. 23.06.2013)

A man sold an article at aloss 0f 20%. Ifhe had sold
if for ¥ 50 more, he would have gained 5%. The
cost price of the article was

T STEHT 7 g T 20% i B W a=| afg
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TE 39 50 ®UY A W =@, d@ SH 5% h (1) F500 (2) F700
A B TR H HIA-A AT (3) ¥540 (4) T545
(1) 5{-25 0 (2) T3 00 (SSC Graduate Level Tier-II Exam. 29.09.2013)
(3) %180 (4) F200 10. A businessman bought an article and sold it a

(SSC Data Entry Operator Exam. 31 .08.2008)
When an article is sold at a gain of 20%. it yields
¥ 60 more than when it is sold at a loss of 25%.
The cost price of the article is

TRt o T 20% T | S=1 TR 39 20% BT
W AT w gerl § 60 BT e e €

oI 1 F9 oA §-
(1) $200 @) %150
3) %140 4) %120

(SSC Data Entry Operator Exam. 02.08.2009)
A fruit seller makes a profit of 20% by selling
man goes at a certain price . If he charges ¥ 1
more for each mango, he can make a profit of
40%. Find the selling price of a mango in the
first case.

T % fashar, fEd 900 W oM a9 20%
T I F A 21 A TE I A b
T 1 FHd TR 99, a1 SHEEE 40% B
TRl 81 9gTER goH feefd & o aR W& o
w1 fashl-goa TR en?
1) <6 (2) %5
(3) ¥5.50 4 %7

(SSC CHSLDEO &L£DC Exam. 11:12.2011(1Ind Sitting (East Zone)
An article is’Sold ata loss of 10%: Had it been
sold for ¥ 90 more, there would have been a
gain of 5%. The original sale’price of the article

(in ¥)is:
T = 10% 1 81 W o=t g1 38 %.90
TR T <= S @ 5% HI-Als ST 3%
0 faa 9o (¥ H) €
(1) 540 (2) 600
(3) 628 (4) 650

(SSC Multi-Tasking Staff Exam. 10.03.2013)
An article is sold at a gain of 15%. Had it been

sold for ¥ 27 more, the profit would have been
20%. The cost price of the article is

Th a&] I 15%. M W &= T4 B AR s
27 AfYe Hed W d= S, @ @ 20% &
ST AEIER, SH %] 1 AN god feha €2

11.

12«

13.

loss of 5%. If he had bought if for 10% less and
sold if for ¥ 33 more. he would have had a profit

0t 30%. The cost price of the article is
TH SAME A Th g G SR 5% ' W
59 1 Ak I F_ a5 10% FF HET T
Tl Bt $IR 33 eifuss w M W AR B, o
I 30% NH U B S qSTER 39 a5
ANTA-Hed feraaT @2
(1) ¥330 (2) %155
(3) 150 4 300

(SSC MTS Exam. 24.03 2013, Ist Sitting)
A shop-keeper sold a sewing machine for 1,080

ataloss of 10%. At what price should he has to
sold.it so as'to gain 10% on it ? (in¥)
T GRIMSR o Tah, et |31 10% i 81 =
¥ 1,080 7 9= 3H a2 fohe wiAa @ s=an @
S 10% FTT BAL(T H)
(1) 1,069 (2)" 1,200
(3) 1,230 4 1,320

(SSC CGL Tier-1 Re-Exam. (2013)20.07.2014 (Ist Sitting)
A man sold an article at a loss 0f 20%. If he has
sold that article for ¥ 12 more he would have

gained 10%. Find the cost price of that article :
e AN 4 Th FeH 20% i B W A=

I 98 FHed HI 12 ®IC HAfod T = @
39 10% 1 @19 BTl 39 Had 1w A
(®o) 1 77
(I) 360
(3) 330

(2) 340

4 322
(SSC SO (Commercial Audit) Exam. 25.09.2005)
A dealer sold a bicycle at a profit of 10%. Had
he bought the bicycle at 10% less price and sold
it at a price ¥ 60 more, he would have gained
25%.The cost price of the bicycle was

T fasdl 7 T AEfedd 10% & o9 9 5=
Iz a8 AEfFa 10% HH FiHd | GEd iR
39 60 TIU 3Tferek T S=ar dl SH 25% hT A1
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14.

15.

BN WEfhA FT ARG qed o
(1) 2400 (2) 2600

(3) T2000  (4) T2200
(SSC CGL Tier-I Exam. 16.08.2015

(IInd Sitting) TF No. 2176783)
A fruit merchant makes a profit of 25% by sell-
ing mangoes at a certain price. If he charges ¥ 1
more on each mango, he would gain 50%.At first
the price of one mango was

T %d foshar w1 T ffed gog ™ o
T W 25% HT AN T T AR TE Tk ST
R | T AfUEw T A IH 50% HT A
B YRS H, 39 Y wiEa foRal off?
1) %5 @ %7
(3) T4 4 36

(SSC Constable (GD) Exam. 04.10.2015. Ist Sitting)
If a man were to sell his hand-cart for ¥ 720, he
would lose 25%. At what price must he sell it to
gain 25%?
g T AR T TU-TMe! H 720&TT |
A=A A SH 25% T B BT 25% HT AW
T ®E & U 39 98 MEL ARat FiHa, o
EERIRCl
(1) ¥1200 2) 960

(3) ¥1152 (4)¢ ¥768
(SSC CHSL (1042) LDC, DEO.& PA/SA Exam. 15.11.2015
(Iind Sitting) TF No. 7203752)

TYPE-XI

Ifthe cost price of an article is 80% of its'selling
price, the profit per cent is :

Ife fordlt a%g 1 % o 39, fad gea &
80% = TS B, M A9 BW:

1
(1) 20% @) 2%

(3) 24% @) 25%
(SSC CHSLDEO & LDC Exam. 28.11.2010 (Ist Sitting)

1
If selling price of an article is 15 of cost price,

find gain%.
Ifg et a%g > fasa HIAd SHHT AN B

I%%,aﬁmaﬁaﬁl

1
1) 25% @) 333%

2
(3) 133% (4 667%

(SSC CHSL DEO Exam. 02.11.2014 (Ist Sitting)
Yogita sold a plasma TV at 20% gain to
Shyamla. Shyamla sold it to Deepa at 10%
profit. If Deepa had to pay ¥ 33,000 for the
plasma TV, find the cost price of the plasma TV
for Yogita.
AT 7 TFEA H 20% H AT W TH
T el S e 7 39 & A 10% %
¥ W s T \afe o wl e de &
T ¥ 33,000 1 FFRME HET GLSI, A1 AT ®
fore wsHT Sl &1 AT Jed d1d it
(1) ¥30,0000 (2) F25,000
(3) ¥35,000 (4" ¥40,000

(SSECHSL DEO Exarh. 16.11.2014 (Ist Sitting)
If there is a profit of 20% of the cost price, the
percentage Ofprofit on the sale price is
I o Hed W, 20% 1 1H R €, o foshi
T /R T Sl MR 1 BRM?

2
() 165% (@) 12%

1
Gy 153% @) 16%

(SSC CGL Tier-I Re-Exam. (2013)20.07.2014 (lInd Sitting)
Anitem costing ¥ 200 is being sold at 10% loss.
Ifthe price is further reduced by 5%, the selling
price will be

T 200 ST ARG T a5 10% B T = Sl
Bl A HEd 5% N HH HY < WQ ar fawhi

Ted 1 BAT?
(1) 170 2) %171
(3) ¥175 4 ¥179

(SSC CGL Tier-Il Exam. 21.09.2014)
Pooja wants to sell a watch at profit of 20%.
She bought it at 10% less and sold it at ¥ 30
less, but still she gained 20%. The cost price of
watch is
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TS 20% F 9 W Tk T S Al 7

I 98 S 10% HH R GE R T30 HA

R =, TR ot 3/ 20% &1 AT gam =St

T AT G 22

(1) ¥240 (2) T220

(3) 250 (4) T225

(SSC CGL Tier-I1 Exam. 12.04.2015 TF No. 567 TL 9)

7.  Rohit sold his car at 10% below the cost price to

Amit. Amit got the car repaired and spent T 5,000.

He then sold the car to Rajesh at 20% above the

total cost, which is equal to ¥ 1,00,000. Find the

original price of the car (nearest to hundred).

fed 7 T &R AT & A Jod ¥ 10%
FHH W T 1| AT 7 FHR H T HE@H H
5,000 9T @9 fohul fRY 387 98 R o
FH HA ANG H 20% ATEH W a9 I |
1,00,000 TIT % R | FR K1 FHd (F
fehead ofal H) @ HitwQl
(1) 93,000 (2) ¥83,000
(3) ¥87,000 (4) F97,000
(SSC CAPFs. SI. CISF ASI & Belhi Police SI
Exam. 21.06.2015 IInd Sitting)
8. A man purchased an articlefor Rs. 1500 and
sold it at 25% above the‘cost price. If he has to
pay Rs. 75 as tax on_it, his net profit percentage
will be :
T AT A Wk e 1500 ®UC H G iR
A qed | 25% SAfd | 99 1< afsy
T W 75 ®IU HL h BOH 2 TS 2 A9l 36
AT T GRITA 1 S’
(1) 20% 2) 25%
(3) 30% 4 15%
(SSC CHSL (10+2) LDC. DEO & PA/SAExam’ 15.11.2015
(IInd Sitting) TF No. 7203752)
TYPE-XII

9
1. Mabhesh pruchased a ratio at EOf its selling

price and sold at 8% more than its original sell-
ing price. His gain per cent is :

R 4 U fed sow fawa g9 & %W{
TR T THh A Tashd W 8% AT W o=l

ITFHT A9 B
(1) 20% 2) 18%
(3) 10% ) 8%

(SSC CHSLDEO & LDC Exam. 28.11.2010 (Ist Sitting)

3
A seller sold 1 part of his article at 24% profit

and remaining part sold at cost price. What is
his total gain percent

@m#mWﬁw%mz4%

A W A= SR WY 9N A Ged WS
&= TRIIR ITHT /A e fehad gfaeTa @17
(1) 45 (2) 18
3) 24 4 32

(SSC Multi-Tasking (Non-Technical Staff Exam. 27.02.2011)
A man buys two chairs in total cos of ¥ 900.

4 5
One is sold at 5 of cost price and other at 1 of

cost price. In this transaction, there is profit of ¥

90. What is“cost price of chair whose price is
less

T _SARHN & HKfEAT ®A T 900 H AE H
@ﬂm%@«ﬁ@ﬁm@%maﬁ?

@ﬂﬁmﬁm@%mﬂme‘éa@

Tietl X 39 oA | T 90 T oA Bl Bl HH
T oTelt HHT A B
(1) %360 (2) 400
(3) ¥420 (4) 300
(SSC Graduate Level Tier-Il Exam. 04.09.2011)

1
A sells an article to B making a profit of 5 ofhis
outlay. B sells it to C, gainning 20%. If C sells it

1
for ¥ 600 and incurs a loss of S of his outlay,

the cost price of article for A is

A, T 9% B &I, 39 @ & % % T W
o=l B SEH T 20% N W A= < ¢l TEAER,
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% C3 T 600 o 3N 36 W Y o

T Y é%Tﬁ TE 1, T AT AFTA-9ed foRa

22
(1) F600
(3) 720

(2) 3500

(4) 3800
(SSC Graduate Level Tier-Il Exam. 16.09.2012)
Gita buys a plot of land for ¥ 96,000. She sells

2
5 of'it aloss of 6%. She wants to make a profit

of 10% on the whole transaction by selling the
remaining land. Then gain % on the remaining
land is

e 3 9fi7 TR Wi ¥ 96,000 § @

wﬁw% IR 6% B R o= f&n 31 a8

3Ta I W SRt el 9T 10% HHFAT = e 8
TEIER W I 90T fohae gfaem ey W s
BRT?

2
(1) 20% (@) 205%

(3) 14% 4 7%
(SSC Graduate Level Tier-Il Exam. 29.09.2013)

TYPE-XIII

Profit after selling a commodity for T 524 isthe
same as loss after sellingit for ¥ 452. The cost
price of the commodity is
forelt a%g i 524 TRH I99 ST EL AN
T & A 39 452 T Ha= | w e
2 39 o H FT A o
(1) T480 (2) %500
(3) T488 (4) T485

(SSC CGL Prelim Exam. 11.05.2003 (Second Sitting)
The percentage of loss when an article is sold at
T 50 is the same as that of the profit when it is
sold at ¥ 70. The above-mentioned percentage
of profit of loss on the article is
frelt oG A 50 o F R [ B AK B H
T 5§ S Sy 70 ®o H SEH ¥ B A
N T I B SE o] W ST oy 91 el

T i &

(1) 10% ) 16%%
2

(3) 20% ) 223%

(SSC CGL Prelim Exam. 13.11.2005 (Second Sitting)
By selling a table for ¥ 1140, a man loses 5%.

in order to gain 5%, the table must be sold for
TF H 1,140 ®9C § ST W TH ARK Bl 5%
B Bl B GEIER 39 5% o9 & foag, 9 oS
o o st =few?
(1) ¥1260 (2) 1320
(3) ®1180 (4) <1250

(SSC MTS Exam. 17.03.2013. Ist Sitting)
A shopkeeper sells an article at 15% gain. Had
he sold it for ¥ 18 more, he would have gained
18%. The cost price (in, #).of the article is
Tk THEEK TH a8 15% A W S 2
STR I8 IH TAS SAferen H/a=n Bian, @ oy
18% B ) ‘GEI9R, 39 9% &1 aNd qod

(T H) Tepa =2
(1) 540 (2) 318
(3)4600 4) 350

(SSC CHSLDEO & LDC Exam. 10.11.2013, Ist Sitting)

TYPE-XIV

1 1
If the sales tax be reduced from 3 5 % to 3 3 %

what difference does it make to a person who
purchase an article whose marked price is ¥
8,400 ?

afg fasmt 3%%@8@»‘{ %%Tﬂﬁw

e, @ 39 e ! 9% A qod | R
I e frwent siferd g 8,400 ®o 872
(1) 320 @ IS
(3) 14 4 10

(SSC CGL Prelim Exam. 24.02.2002 (Second Sitting)
A merchant fixes the sale price of his goods at
15% above the cost price. He sells his goods at
12% less than the fixed price. His percentage of
profitis:
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o

T AU 79 A1 &1 oot 9o, %a 7909 9
15% @fush W 3ifehd HTM 71 98 1 A i
e 9o | 12% FH R Sl 3| ST A
i -

(1) 2%% ) 1%%

1
3) 15% ) 2%

(SSC CGL Prelim Exam. 11.05.2003 (First Sitting)
3. While selling to the retailer, a compay allows
30% discount on the marked price of their prod-
ucts. If the retailer sells those products at marked
price, his profit % will be :
WU AR 1 A = T99, Th w1 3T
SARl % e ged W 30% 2 o B AR
T AR 37 3R] i 3ifhd Joa W=, @

IR AT BN
1
(1) 30% (2) 427%
60
(3) 40% ) 42-%

(SSC Multi-TasKing StaffExam. 10.03.2013)

4. A shopkeeper sold sarees at ¥ 266 each after
giving 5% discount on labelled price. Had he
not given the discount, he would have earned a
profit of 12% on the cost price..What was the
cost price of each sarees?

T THMER A TF FEhHl 37 SAfoha, e
TR 5% T2 A, T 266 F 9= AR ITH3IT;W
Te T 3 BT, A SH ITh ANA-Ged 1 12%
A el BT TR, YAh HIEh T AR-Hod
femer en?
(1) %280 (2) %260
(3) ¥240 4) 250
(SSC MTS Exam. 17.03.2013. Kolkata Region)
5. A retailer purchased radiosets at the rate of ¥
400 each from a wholesaler. He raised the price

by 30% and then allowed a discount of 8% on
each set. His profit will be

T Fedl fashdl 7 Ts o fashar @ ofd ¥
400 T & et 92 TR 36 T&® 9 &l

HIEd 30% 51 < 3N 39 W 8% T T2 <1 39
o @ gmm?
(1) 19% (2) 78.4%
(3) 22% 4) 19.6%

(SSC Graduate Level Tier-I Exam. 21.04.2013)
Arvind purchased a wrist watch with 30% dis-
count on the labelled price. He sold it with 40%

profit on the price he bought. What was his per-
cent loss on the labelled price?

IR 7 TH FoE TS 3TF GAOS oI R
30% B o BT 3HH 39 BT T oI R
40% A1 TR o9 T TRIER, YEEs I
% SR W 39 fhaw gfaema &1 314 g8°2
(1) 2% 2) 6%
(3) 4% % 8%

(SSC Graduate Level Tier-I Exam. 21.04.2013)
A got 30% concession on.the label price of an
article soldfor ¥ 8,750 with 25% profit on the
price he bought. Thelabel price was
AR UF T F B TS HET T 25% 14
% T 39 8,750 ® =, ue sifRd g
R 3IH 30% T faett ot sAfera g o-
(1) £T13,000. (2) F16,000
@) ¥12,000 (4) F10,000

(SSC CHSL DEO & LDC Exam. 20.10.2013)

The printed price of an article is 40% highter

than its cost price. Then the rate of discount such
that he gains 12% profit is

TH o 1 AfRd oI 3T A oI |
40% 3T 71 12% 1 o9 I & & forg

9 g% W WM ael 22 w1 W R
(1) 21% 2) 15%
(3) 20% 4 18%

(SSC CGL Tier-I Exam. 09.08.2015
(IInd Sitting) TF No. 4239378)
A trader marks his goods 20% above cost price
but allows his customers a discount of 10%. the
cost price of a blackboard, which is sold for ¥
216, is
T fashdl 3T0H AIA W AN 9o 9 20% 34
% Hod ifehd H € olfRd o1 Tl
10%. T B @M T ARAIE T AN G
g 59 216 ®9¢ H s=1 W B
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(1) 196 (2) 180 Afsh T S=ar 1 A SEH SHe faw e
(3) 200 (4) 108 P a1 ST 5% F7 W S e iR 2
(SSC CAPFs. SI. CISF ASI & Delhi Police ST 0
Exam. 21.06.2015 (Ist Sitting) TF No. 8037731) R R S Fl’[%?;@ 10% 1 ST Frenl
10. Mohan purchased a bag with 20 percent discount A T TG T 4 %
on the labelled price. He sold it at 40 percent (1) %200 (2) T400
profit on the price he bought. The percentage of (3) ¥300 (4) ¥100
profit on the labelled price is : ,
X (SSC CGL Tier-Il Exam. 25.10.2015. TF No. 1099685)
e 7 SR qe W20 Heww N ge W A manufacturer fixes his selling price at 33%
Eulcib e 3@‘-@-{:‘3 A R 40 FRRE over the cost of production. If cost of production
¥ W%aa feam stfepd Hed W o9 1 gfara goes up by 12% and manufacturer raises his sell-
foram 27 ing price by 10%. his percentage profit is
(1) 20% 2 12% & fafmia IcRa @ @ 33% oife W
(3) 18% (4) 24% o foska gea fam @ @1 AR saed
(SSC CHSL (10+2) LDC, DEO & PA/SA Exam. 06.12.2015 A 12% 98 St @ 3fR fefmfar e fosma
(Ist Sitting) TF No. 1375232) T 10% =1 QT-H %, @ ST N T gfaeTaar
foRat €2
TYPE-XV &
1. Adishonest shopkeeper, using a faulty balance 3, 5
makes a profit of 5% while buying as well as (1) 28§ 4 @) 30§%
while selling his goods. His actual gain percent
in the whole process amounts to 3) 365% @). 35%
T SEAM GHMREN, Teh S0 Tl 3l T ahih, 9
A THA ki TS 92 faet, A1 W, 8LaR 5% (SSC COL Tier-I'Exam. 25.10.2015. TF No. 1099685)
Y I T o Bl rerca| i A fruitseller buys 240 apples for ¥ 600. Some
g8, ES Ky
T SR oy 1 U9 (ohael 81 ST &2 ofthese apples are bad and are thrown away. He
(1) 1% ) 10% sells the remaining apples at ¥ 3.50 each and
(3) 10.25% 4) 10.5% makes a’profit of ¥ 198. The per cent of apples
(SSCDelhi Police S.1L (SH.Exam. 19.08.2012) thrown away are i
2. A dishonest dealer professes to sell his goods.at T T Tefshl 600 wAR & 240 o9 T T
the cost price but uses a false weight of 850-g ST ¥ /9 U4 TUd € 3R B KU 91 B| 9%
instead of 1 kg. His gain pergent is 9fd 3.50 9T & feqe 9 99 99 99 99 <l
U SR PR ST SR R S % 3T 198 &I H1 o9 FHC 2| Bk TC Yal
T I RIA € TG 1 TR AL S 850 TW FT gREE & 2
(1) 1712, ) 171y, (3) 3% @) 7%
17 17 (SSC CAPFs. SI. CISF ASI & Delhi Police SI
1 1 Exam. 21.06.2015 (Ist Sitting) TF No. 8037731)
3) 71ﬁ% 4) llﬁ%
(SSC CL Tier-1 Exam. 19.05.2013 Ist Sitting)
3. A mansells an article at 5% above its cost price.

If he had bought it at 5% less than what he had
paid for it and sold it at ¥ 2 less, he would have
gained 10%. The cost price of the article is

T STEH! fRdt a%g &1 36 ard 7ed 9 5%
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Answer Key
TYPE-I TYPE-VII
. 2 2. & 3. W4 M1)s5 @) . 4 2. 3 3. W4 35 1)
6. 4 7. 2) 8 (2)9. (3) 10. (1) 6. 3) 7. 3 8 (1)9. (2) 10. (1)
11. (4) 12. (1) 13. 3)14. 4) 15. 4) 11. (1) 12. (2) 13. (3) 14. (1) 15. (4)
16. (2) 17. (1) 18. (1) 19. (2) 20. (4)
21. (2) 22. (4) 23. (2)24. (1) 25. (2) TYPE-VIIIL
26. (3) 27. (1) 28.(2)29. (4) 30. 4) . (1) 2. 2) 3. 4. 35 (1)
31. (2) 32. (4) 33. (1) 6. (1) 7. 4 8 (1)9. (1) 10. (2)
11. (2)
TYPE-II
I. 3 2. 4 3. 4 25 A TYPE-IX
6. 3) 7. 2 8 #9. (3) 10.(3) . (1) 2. (2
11. (2) 12. 3) 13. (3) 14. 3) 15. (3)
16. (4) 17. 4) TYPE-X
1. (1) 22 (1). 3. 34 (1S @
TYPE-III 6. 2) 7. (1) & (1)9._.(3) 10. (3)
. (1) 2 & 3. 4 35 ) 11. 4).12. (2) 13. (1) 4. (1) 15. (1)
@ 7 &% 8 B39 @
TYPE-XI
TYPE-IV .04 2. 2).3. 4. (1)5 (@2
. 22 4 3. 3) 6. (3) 7. 3)8 (1)
TYPE-V TYPE-XII
. 3 2. 4 3. 4 35 @ I. )2 2 3. (H4 25 @2
3) 7. 3 8 (19..(3) 10.(1)
TYPE-XIII
TYPE-VI . 3)2 2) 3. (H4 (3
. 4 2. 4 3..3)4 DS (B
. @ 7. @ 8 (3)9..4)710. (2) TYPE-XIV
11. (4) 12. (1) 13. (1) 14. (3) 15. (¥ I. 3 2. 2)3. W4 DS @D

(1) 7. @ 8 (39. (3) 10. (2)

TYPE-XV
I. 3) 2 (2 3. @4 25 O
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Raph Work

Add : 117/0/62 B-6 Crossing No. 9, Geeta Nagar, Kanpur

Mob. 9335615537, 9415728437



https://www.print-driver.com/?demolabel-en

